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The article, Ref. 1, by the author has several crucial oversights and mathematical errors in
the proof of Proposition 16. This concerns the argument from the top of p. 574 to the end
of the proof, a corrected version of which is offered here. The statement of Proposition 16
remains unchanged. It should be noted that Ref. 1 is a verbatim reprint of Ref. 2, except for
a changed numbering scheme of the sequence of Propositions, Lemmas, etc.: the same errors
and correction apply to Ref. 2, there in the proof of Proposition 17, from the middle of p. 184

(the big display equation).

Proof of Proposition 16 (Proposition 17 in Ref. 2).
. constant for the moment, so that D, = supp Tr,|v)v| is a constant, we have
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where we have denoted ¢ := |||w) — (v|w)|v}||2 and used that |v)Xv| < D, ® 1. Hence, if

(wlv)v|w) < (w]|Dy ® Tw) < €:= (n/2)?, (13)

we can conclude that "I‘I‘E(TI')DT - a| < 7. It remains to bound the probability of the event
in eq. (13): according to Lemma 2 (Lemma 18 in Ref. 2), putting a = |ed/2|, we have
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Pr{(w|D, @ M|jw) > €} < exp <—a2T2n) .

Note that D, can have rank a at most; we will assume a > 1 from now, and will see at the
end that the case where a would be zero is trivial. Putting this and eq. (13) together with
the union bound, this gives us
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which is smaller than 1 by our choice of parameters: n = A/8, e = (1/2)?, S = |d° L0 | -

41og(100/X)
That is, except when S = 0 (which is implied by a = 0), in which case the proposition is
trivial. a
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